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>> 143

>> 12#3

ans =
36

>> 36/3

ans =
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=xox=[12345]; v=[5 43 21];
33wy

ans =

1%5 logical HHE

P> w==y

ans =

1%5 logical dfg
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ans =

1x5 logical HiE

#r for x=0:2:10
a=2"x

end
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*> a=3

> if al
b=a+1
else
c=a+2

end

> while a<d
a=a+l

end

2

== f = inlinel % 3+6xx—2 ", %' )
> £(3)

ans =
43

fx >>| >




= f = inlinel 'x, "3HEx-20, w')

F([3 4 5D
ans =
43 ol 153
fx |>>|
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> oplot(x,sin(x), 'k——",x,cos(x), 'ko

TFigure‘\
>> plotlx.sinix), 'k==" %, cos(x), 'ko') or EHEE 27 d2dn M HAIED BHw E2EH)
ElE) UME s B s R Degde @08 kE
> plot{x,sin(x), 'k-—",x,cos(x), 'ka'} 2 r r —— T —— '
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> oplot(x,sin(x), 'k——",x,cos(x), 'ke")
L E(E)Y PIME 4 gl B e BRI 1k
>> t=linspace(0,2*pi,100); x=2xcos(t); y=2*sinlt); 05 L 1
>> plot(x,v) \
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> plot(x,sin(x), 'k=—",x,cos(x),

B(E) AN 7 gE ¥ E=

> plot{x,sinlx), k=" x,
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»» t=linspace(0,2*pi,100); x=2*cos(t]); v=2*sin(t);
=2 plotixy)

>> t=|inspace(0,2*pi, 100}, x=Zxcos(t); v=2+xsin(t);
plot(x,v); axis equal

>>

(b)

7} equal®l A%, (b) FEA 7} image! 35
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»> t=|inspace(0,2*pi, 100); x=2*cos(t); v=2»sin(t);
s> plotix,v)

> t=linspace(0,2*pi,100); x=2*cos(t); y=2»sin{t);
plot(x,v), axis eaqual

>> t=linspace(0,2*pi, 100); x=2*cos(t); y=2»sin(t);
plot(x.w); axis
>

image;
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=> ones(3)

>» C=[1 2 37 lenath(C)

ans =
3
fx > ‘ v
> fprintf(fe, '#d %dén', 3.5, 4.5); el s
»> fp=fopen{ 'test.m', 'w'); a [1,2;3.5000,4.5000;100,1000]
> fprintf(fe, '#d %dén', 1, 21, 1ans 0
ifp 4

W

>

W

>

W

>

ferintf(fp, '&f &fWn', 3.5, 4.5);

ferintfife, '#e Hebn', 100, 1000);

fclosel(fpl;

>>» Random_matrix = rand(2.3)

Random_matrix =

0.8147 01270
0.3054 0.9134

*» rand( 'seed',3)
> rand(2.3)

ans =

i

.9387 0.0312
0.3813 0.2851

0.6324
0.0973

0.3010
01277




